e 2"olA x of e F-shei=t.




2. o "M ] 2718 5ozt




3. & 2T 2L €0 oIA4 5.0ptAB =
5.0ptBC , ZABC = 120° &4 |, zx & 2
715 Fatoler,




4. Uz 2N ] 2715 5ozt




o2 21894 LABC ] 2715 T35} A
2t

D 96° @ 97° ® 98°
@ 99° ® 100°




6.

oS 2elA /x0T Fotolat,




7. o= "o F do] & A P,Q oA A= Tl /PAB = 85°,
(ABQ =80° & W, zx o] 27]E 5tof=t.




8. thg 27l % o] & H P.Q A HE ThiL PAB = 80°,
/ABQ = 70° & 1, zx O] A7

@ 100° @ 110° @ 120° @ 130° ® 140°



e 2" 2o 7 o] A P,Q oA i, H P,Q € AdE
o] = A3 A2 A A, B 2 A C,D oA whdth. /PAB = 80°
¢ o, ,PCD 9] 27]& F-35tofzh




